201500 0000000 VIDDOOO 20140000000
ooooog

0000000000000000000000000000000000000000000000000000
000000000000000000000 knotoid 00 D00 Sefert-Turaev 000 000000000000
00000000000000000000000000000000000000 ¢(85,)00000D30000
000000003, »2%p, 00000000000000000000000000000 Dg000000O0
00000000

0000 2000000000000000000000000000000000D,Dg00000000 200
00000000000000000000000000000000 10000000

KnotinfoDO OO O OO0OOOO0 “ThreeGenus' 00 0000000000000 0000 ¢(K)ODOODOODOOOO
D00D0000D00000000¢g(K)<g(Zs,)<¢(Ep)0000000000000000000000DOO0
0000000000000000000000000000000000 BOOOOOOOOOOOOO0O0000
00000000000000000000000000000000

(1/21)

http://math.shinshu-u.ac.jp/~ksakai/15_Knot/15_Knot.html



